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© 5x=3x—4[2]

@ 4x-1=712]

® 4-3x=-2x[4]

©® x-2=-2x[2]

® 3x=2x+5 [-5]

@ 8-—x=2x][1]
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@ 4a=4b

D a+2=b+2

@ a-5=b-5
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“3x+8=Tx-12
-3x+8—-Tx

=12

-3x—-7x=-12-8

—10x

-20

@ 2 ® 3 @ 4 ® 5
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D 4x+5=9—>4x=9-+5

O 5x+2=06x—>5x—6x=-2

© 3x+5=6x-8—>3x-6x=-8-5
® -2x+3=3x-2—>-2x-3x=-2+3

@ x-1=-x+3->x+x=3-1
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@ x-9=18+x

@ x*-3x

D 3x-2=x+7
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@ 4x-2=5-4x

® 5x-17=0



® 40



7. Oe=F( )&Fel =7t 21 g A 9] s 7 obd A2?
1 3
O 7x-40 = 2x (8) ) Zx—1:§(7)
® 14=-2x+18(2) @ 5x-7=28x+11(-6)

® 2y+2=-3y-8(-2)
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O 7+3x=4x—>3x—-4x=7

@ bx+3=T7T->5x=T7+3

® 3x-4=5x—>3x-5x=4

@ dx+2=-3x+1>4x+3x=1-2

® 8x+T7=-2x—>8x+2x=-7



10. 9= F EE 3 &9 ool 4] 9= A2?

O x42=-1 - x=-1-2

@ —4x+6=0 — 6=4x

® 2x+5=5-x — 2x+x+5=5

@ -2x-3x=5x —> —-2x-3x-5x=0

® 8-6x=x-12 - —6x—x=-12+38



11, th& 5 QAP Al obd 29

O x+6=2x-7+x @ 4(x+3)=12
@ x-2(x+1)=1-x @ x-1=-x+1

® x(x-5)=10x+x>+1
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F WA Ax - 3) = x+ 3 T S7F 22 FHARY

® 2x-3=9 @ 2(x+1)=3x-4
® 5x-T7=3(x+1) @ Tx+1=2x+3

® x-1=2x+6



14. The A F 8k b 2 0t Ee e

® 2x=10-3x @ 9-2x=x
®2(x+2)=1 @ 3(x-1)=4x

® 4(2x-3) = 5x
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J24 3 - bx = —3x+4 9 e} T2 & z+= LAA

@ 5x+2=17 @ Tx-11=4x-1

® x+8=-2(x-1) @ 3(4x-7)=1-7(2x+5)

® -5(x+6)=12(x—4)
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D 3(x-1)=9 @ 2x4+7=15
x+7 1 9
® —— =2 @ S+ -5=1

® 02(5x-7) =26



6x—14=2(5+6x) -3







